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DELHI PUBLIC SCHOOL, BHILAI

DATE : 21.02.2022 ANNUAL EXAMINATION 2021-22 ' Time : 3 Hrs.
CLASS : VI SUBJECT — ENGLISH Max. Marks : 80

.............................................................................................................................................................................

General Instructions :

>
>
»
>

Attempt all the questions in each section, in the same order, before going to the next section.
All the answers must be correctly numbered and written neatly.
Do not copy the questions.

For multiple choice questions, option numbers should be clearly specified along with the

answer,
The paper consists of 4 sections : A, B, C and D.
Section A : Reading : 16 Marks Section B : Writing : 18 Marks
Section C: Grammar : 16 Marks Section D : Literature : 30 Marks

.............................................................................................................................................................................

SECTION A : READING (16 MARKS)
Read the given passage carefully and answer the questions that follow : (8 Marks)

1. Cardamom, the queen of all spices, has a history as old as the human race. It is the dried
fruit of a herbaceous perennial plant. Warm humid climate, loamy soil rich in organic
matter, distributed rainful and special cultivation and processing methods all combine to
make Indian Cardamom truly unique in aroma, flavour, size and it has a parrot green
colour.

2. Two types of cardamom are produced in India. The first type is the large one, which has
not much significance as it is not traded in the future market. It is cultivated in north-
eastern area of the country. The second type is produced in the southern states and these
are traded in the future market. These are mainly cultivated in Kerala, Tamilnadu and
Karnataka. As per the future market rules, only 7 mm quality was previously traded in
exchanges. But later, it relaxed its norms and now 6 mm quality is also traded in the
exchanges.

3. Cardamom is an expensive spice, secondly to saffron. Indian cardamom is known in two
main varieties: Malabar cardamom and Mysore cardamom. The Mysore variety contains
leaves of Cineol, Limonene and hence is more aromatic. India is the world’s largest
producer and exporter emerged as the leading producer and exporter of cardamom.

4. The main harvest season of cardamom in India is between August-February. Cardamom
reaches at yielding stage two years after the plantation. The primary physical markets of
cardamom are Kumily Vandenmodue, Thekkady, Puliyarmala in Kerala and Bodynaikkaur
and Cumbum in Tamilnadu. ,

5. Kerala is the main producer of cardamom in the country and contributes upto 60% in
total production. Karnataka produces around 25% of the total production of cardamom.
Ooty is the main producer of cardamom in Tamilnadu and contributes around 10-15% of
the total production. Besides India, Guatemala also produces around 1,000-2,000 ton

cardamom per year. Due to low quality of cardamom from Guatemala, it remains
available at cheaper rates.

Choose the correct option :

(a) Indian cardamom has a .............. colour. (1)
(i} Parrotgreen (ii) dark green (iii) orange (iv) brown

(b) India produces cardamom of .............. : (1)
() Onetype (ii) Two types (iii) Three types (iv) Four types

(c) Which is the following is the variety of Indian cardamom? (1)
(i) Malabar cardamom  (ii) Mysore cardamom
(iif) Both (i) and (ii) (iv) None of the above

(d) Mysore variety contains leaves of .................. k (1)
(i) Limonene (i) Cineol  (iii) Both (i) and (ii) (iv) Saffron

(e) Main harvest season of cardamom in India is .......... . | (1)

(i) August-February (ii) August-March (iii)l November (iv) February-April
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(f) Cardamom from Guatemala remains available at cheaper rates due to its ....ceeee . (1)
(i) highquality (i) low quality (iii) bad quality (iv) good quality
(g) Find a word from the passage which means the same as ‘importance’ (para 2) (1)
(h) Find a word from the passage which is the opposite of ‘common’. (para 1) (1)
A2 Read the given poem and answer the questions that follow : (8)
(1) A Sunday is so typical
When Dad is around
The morning starts
With a loud TV sound.
(2) One groan from my sister
And another from me
Doesn’t melt his heart
To let us sleep for a minute or three.
(3) Mom tries to catch up
On her wee bit of sleep
For she knows Dad is there
To make a cup of tea
(4) But once we all are up
It all seems so bright
For that's the only day
When Dad has all the time.
Choose the most appropriate option :
(a) Why is Sunday so typical?
(i) because no TV sound is there.
(i) because dad tries to catch up on sleep.
(iii) because of mother’s groan.
(iv) because dad is around at home.

(b) The morning starts With .......ccoeweeee.
(i) aloud TV sound.
(ii) groan from a sister.
(iii) a sleep for a minute
(iv) making a cup of tea
(c) What makes the poet and his sister groan? (1)
(i) cold wind - '
(i) dad doesn't allow them to sleep a bit more.
(iii) mom’s snores
(iv) None of these.
(d) Since Dad is at home every Sunday, mom tries to ... (1)
(i) groan
(ii) make a cup of tea
(iii) seem so bright
(iv) catch up on her wee bit of sleep.
(e) Everything seems so bright when they all are up because that's the only day when .......... (1)
(i) Dad has all the time for them.
(i) Dad makes a cup of tea.
(iii) Dad doesn’t allow them to sleep.
(iv) a Sunday is so typical
(f) ‘Doesn’t melt his heart’ means :- : (1)
(i) become sympathetic.
(i) fill his heart with hatred
(i) does not bother about them.

(iv) wants to watch TV.
(g) Find a word from the poem that means the same as ‘Very small’ (Stanza-3) (1)

(h) Find the opposite of the word ‘dull’ (Stanza-4) (1)

(1)

(1)
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SECTION B : WRITING (18 MARKS)

‘You are Deepak/Deepika, School Captain of Saint-Mary High School, Delhi. Write a notice,

for the Schoo! Notice Board, informing the students about the ‘Inter-School Drawing and
Painting Competition’ for the classes VI to XII to be organized in your school. {50 words). (5)

You paid a visit to an orphanage on your birthday to share cake and gifts with those
children. Write a diary entry sharing your experience in about 120 words. (5)

You are Ishan/Ishani a resident of Adarsh Colony, Agra. Write a letter to the Editor of ‘The
Times of India’ complaining about the insanitary conditions prevailing in your locality. Write
the letter in about 125 words using the hints given below — (8)

Pits at every step — pools of dirty water, improper drainage system — mosquitoes breed
and spread malaria — heaps of rubbish — fear of accidents occurring — fear of epidemic
breaking.
OR
Using the given inputs, write a story, in about 125 words. Give a suitable title also.

A naughty and mischievous shepherd boy — used to lie frequently — went every day to
graze his cattle — decided to play trick on villagers — shouted ‘help’, ‘help’, ‘help’, a
‘wolf’ — laughed when the villagers arrived — repeated this trick on villagers many times
— one day he really encountered a wolf — shouted for help — no one came for his help —
wolf attacked and killed many of his sheep — one has to pay terribly for speaking lies —

moral — : .
SECTION C : GRAMMAR (16 MARKS)

Fill in the blanks with suitable prepositions :- (2)
1. Indians have strong faith .......c.cveeeeenee. God.

(a) by (b) at (c) with (d) in
2. Ifeltvey sorry ... the poor boy.

(a) on (b) for (c) at (d) to
Fill in the blanks with suitable conjunctions :- (2)
L RNE T E—— I will not go to play today.

(a) so (b) hence (c) though (d) if
2. He will be home ............... 8 o’clock. '

(a) within (b) when  (c) as (d) by
Fill in the blanks with suitable adjectives :- (2)
1. Heisan ... man.

(a) wise (b) happy (c) honest (d) sincere
N L T s THER,

(a) longest (b) tall (c) fat (d) happy
Fill in the blanks with suitable adverbs :- (2)
1. Hedrove ............ when saw potholes on the road

(a) quickly (b) suddenly {c) daily (d) carefully
2. Leenaworked ............... than ever before.

(a) harder (b) hardly (c) loudly  (d) highly
Identify the following sentences as compound or complex. (2)

1. | really want to play but | am feeling sick to go.

2. Wherever you go, you can always find beauty.
Change the following sentences from active to passive voice. (2)

1. Put some salt in the vegetable.

2. Who broke this glass?
Change the following sentences into indirect speech. (2)

1. ‘Please sit down’, said the driver to the passengers.
2. Rita says, ‘The flowers are very beautiful’.
Write an idiom using the word — ‘nose’. (2)
Write down the meaning of the given proverb-
‘Actions speak louder than words.
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SECTION D : LITERATURE (30 MARKS)

D.1  Read the following extracts and answer the questions that follow:

A. “But did you see how ‘thin he is? May be he’s very poor and can’t afford to eat.”

1. Who is the speaker of the above lines?
2. Whom does ‘he’ refer to?
3. Name the lesson from which this extract has been taken.

B. ‘You can find them if you look;
Walk softly through the velvet grass,
And listen by the brook.

1. What does ‘them’ refer to in the first sentence?
2. Why is the grass called as velvet?
3. Name the poet.

C. ‘So when he wiggles in the grass
I'll stand aside and watch him pass,
And tell myself. There's no mistake,
It’s just a harmless garden snake!”

1. What wiggles in the grass?
2. Why will the speaker stand aside?
3. What does the speaker mean by saying ‘There’s no mistake’?

D.2  Answer any three of the following questions in about 30-40 words each:-

(a) “Tree are to make no shade in winter” What does this mean?
(b) What do you think the talking fan was demanding?

(c) What special treatment did the chain receive?

(d) Did the front wheel really wobble?

D.3  Answer any one of the following questions in about 75 words :-

Why did the daimio reward the farmer, but punish his neighbour for the same act?

‘ OR
. What are the three main ways in which a fire can be controlled or put out?

D.4  Answer any three of the following questions in about 30-40 words each.

(a) What did Johnsy see when she looked out of the window?

(b) What did Jimmy do after being released from prison?

(c) What did Jimmy write to his old pal? Why did he want to meet him?

{d) What are some of the things Major Talbol wrote in his memoir?

D.5 Answer any one of the following questions in about 75 words.

How did Behrman help Johnsy live? How did she discover what he had done?
OR

(3)

(3)

(3)

(2x3=6)

(5)

(2x3=6)

(4)

Why did the Major accept money from uncle Mose and not from Hargraves? Who was

uncle Mose in reality?
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DELHI PUBLIC SCHOOL, BHILAI

- DATE : 28.02.2022 ANNUAL EXAMINATION 2021-22 ~ Time : 3 Hrs.
CLASS : VII SUBJECT — MATHEMATICS Max. Marks : 80
General Instructions : _ _
» Al questions are compulsory. _
» The question paper consists of 30 questions divided into 4 sections : Section A, B, Cand D.
> There are 30 questions in the question paper.
Section A contains 6 questions of 1 mark each.
Section B contains 6 questions of 2 marks each.
Section C contains 10 questions of 3 marks each.
Section D contains 8 questions of 4 marks each.
> There is no overall choice. However, internal choice has been provided in two questions of 1 mark
each, 2 questions of 2 marks each, 4 questions of 3 marks each and 3 questions of 4 marks each.

SECTION:A (1x6=6)
01. Find the value of 26 + 23 '
02. When do we say two circles are congruent.

03. Find the square of hypotenuse in the right triangle with sides 10 cm and 24 cm.
- OR
What is the meeting point of three medians of a triangle called.

04. The chord of the circle which passes through the centre is KnOWS as .......ccceueee. g
05. An algebraic expression which contains two terms is called ................... ’

. OR
Find the product of 2t* x 5t°.
06. Findthevalueofxif3x — 5 =19.
SECTION:B (2x6=12)
07. If x = 11, find the value of x3.
OR
Simplify : (m3)*

08. Draw an equilateral triangle of side 3.5 cm.

09. Find the diagonal of a square of side 12 m. Given V2 =141
10. Draw a sector of a circle with an angle of 120°.

© 11. Find the product using distributive law 9p® (p+q).

12. Solve : 5+ 2(x—5) =3(x—2)
‘ - OR
Solve ; £-L =72
5 10

SECTION:C (10x3=30)

13. Express as rational numbers.

@ @) CIs)

14. Nina gets 672 marks out of a total of 800 marks in her final examination. What percentage of
marks did she get? '

15. Bronze is alloyed by using 90% of copper and 10% of Aluminium. Find the weight of each in
760 g of the alloy.

OR
Find the gain or loss percent when a pen bought for ¥ 8.25 is sold for ¥ 8.80

Contd...2



16.
17.
18.

19;

20.

21.

22.

23,
24.

25.

26.

27.
28.

29.

30.

Draw AABC with £ZA = 50°, ¢B = 80°and AB = 5cm |
The diagonal of a rectangular field is 25 m. lts length is 24 m. Find its breadth._

Draw a segment AB of 6 cm and draw a perpendicular to it at A.
. OR
Draw a right angle £ZAOB and bisect it.

Given a circle with centre at o and diameter = 8cm.
(a) What is the radius ?
(b) If OP=5 cm, where does P lie ?
(c) If QP = 3cm, where does Q lie ?
Simplify : (5x + 4)(x%> —3x +7)
OR
Find the area of a rectangle, if the length is (2x + 5) units and the breadth is (x — 3) units.

Solve the equation : %(x —-5) = é (% 2

The sum of two consecutive integers is 55. What is the greater integer?

OR
The numerator of a fraction is 7 less than the denominator. If the denominator is increased by
9 and the numerator by 2, the fraction is not changed. Find the fraction.

Simplify : (-‘E)sx G)z

Express the product in scientific notation 680 x 8000.
; OR
Write 0.32 x 0.0005 in scientific notation.

Vikram got 25 out of 40; 30 out of 50, 40 out of 60 in his 3 monthly tests in Arithmetic.
Express each as a percent and find the month in which he did the best.

OR
Find the value after 2 years of a car bought for ¥ 80,000 which loses every year 20% its
value at the beginning of the year?

SECTION : D (4x8=32)

Prove that in an isosceles triangle ABC, in which AB=AC and AD is the altitude, AD is also
(i) Median (i) bisector of £ZA.
OR
P is a point in the interior of ZAOB. PL L OA&PM 1 OB. PL = PM.
Prove that ray OP bisects 2AOB.

Draw a triangle whose sides are 4cm, 6cm and 8cm. and locate its Incentre.

Expand the following using proper identities
(a) (5x +9y)? (b) (7x —9y)®

Factorize (a) x% +10x + 25
(b) x* — 256

The angles of a triangle are such that the largest is twice as big as the smallest and the third
angle is 8° greater than the smallest. Find the angles. ‘
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DELHI PUBLIC SCHOOL,BHILAI

DATE: 02.03.2022 ANNUAL EXAMINATION 2021-22 Time : 3 Hrs.
CLASS : VII SUBJECT - SCIENCE Max. Marks : 80

----------------------------------------------------------------------------------------------------------------------------------------------------------------------------

General instructions:
> There are 31 questions. All questions are comipulsory
» There is no overall choice. However internal choice has been provided in the three questions
of 2 marks, three questions of 3 marks and all questions of 5 marks category only.
» Q.No. 1 to 6 carries 01 mark.
» Q.No. 7 to 15 carries 02 marks.
» Q.no. 16 to 27 carries 03 marks.
» Q.No. 28 to 31 carries O5marks

Q.01 What are insulators? Give one example. (01)
Q.02 Write any two means of seed dispersal. (01)
Q.03 Which lens is used as magnifying glass ¢ (01)
Q.04 What is the range of temperature in laboratory thermometer? (01)
Q.05 What are the symbols of the following electrical components ?
(a) Electric cell
(b) Switch in off position. (01)
Q.06 When do we celebrate World water day? (01)
Q.07 What s drip irrigation? (02)
Q.08 Name the male and female reproductive parts of the flower. .
Draw labelled diagrams also. (02)
Q.09 (a) What do you call the cell, which is formed after the fusion of gametes?
(b) Draw a neatly labelled diagram of a potato with an eye. (02)
Q.10 why convex mirrors are used as rear view mirrors in automobiles? (02)
Q.11 Write any two uses of a concave mirror. ; (02)
Q.12 Explain why rusting _of iron objects is faster in coastal areas than in deserts.
OR
Explain how painting of an iron gate prevents it from rusting. (02)
Q.13 What is the effect of water scarcity on plants?
OR
What are the forms of water present in the following ?
(a) Air around us.
(b) The ice caps at the poles of the earth. ' (02)
Q.14 Draw a neatly labelled diagram of breathing organ in fish. ' (02)
Q.15 Define pollination. What are the two types of pollination?
OR
How do plants benefit from seed dispersal? Write any two points (02)
Q.16 (a) What is infiltration?
(b) What do you mean by aquifer ?
(c) How water in aquifer can be drawn out for use? (03)
Q.17 Explain the Heating and Magnetic effect of electric current. Give one example for each.
OR
What are miniature circuit breakers? Write any one advantage. (03)
Q.18 Write any three precautions to be taken while handling a clinical thermometer (03)
Q.19 (a) Why does not mercury level fall or rise in a clinical thermometer ?
(b) Why the clinical thermometer has the range of 35° Ct042°C? (03)
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Q.20

Q.21

Q.22

Q.24

Q.25
Q.26

Q.27
Q.28

Q.30

Q31

s Q.29.

-
Classify the following changes into physical or chemical:
(a) Photosynthesis

(b) Digestion of food
(c) Dissolving sugar in water.

OR
(a) What is stainless steel made up of? -
(b) Write the word equation of the reaction of Magnesium wnth Oxygen. (03)
(a) What is the excretory product of birds, lizards and snakes ?
(b) Sometimes in summer white patches are formed on our clothes, Why? (03)
Draw a neatly labelled diagram of human excretory system . (03)

Q.23 A simple pendulum takes 32 sec. to complete 20 oscillations. Calculate the time period of the

pendulum using the formula.

OR
Distance between the two stations is 240 Km. A train takes 4 Hrs to cover the distance.
Calculate the speed of the train using the formula. - (03)
(a) Define cellular respiration.
(b) What is the percentage of oxygen and carbon di oxide in inhaled and exhaled air?  (03)

Why do we get muscle cramps after a heavy exercise ? . (03)

Write any one function of each of the following components of blood:
(a) Red blood cell
(b) White blood cell

~ (c) Platelets. - (03)

Writé the names of any three ancient time measuring devices. (03)

Name the following :
(a) Skeletal structures surrounding the chest cavity.
(b) Muscular floor of chest cavity.
(c) Tiny pores on the surface of leaf.
(d) Small openings on the sides of the body of an insect .
(e) An anaerobic organism.
| | OR
(a) How does breathing take place in cockroach.
(b) Write an activity to show that exhaled air contains carbon di oxide. (05)

(a) Write any three characteristics of a plane mirror.
(b) Define the following :
(i) Real image (i) Virtual image
OR
(a) Why convex lens is called converging lens and concave lens is called diverging lens?
(b) What is reflection of light ? :
(c) Draw a neat diagram of convex and concave lens. (05)
(a) What is a battery ?
(b) Name two devices where we use battery.
(c) Why electric fuse is termed as a safety device ?
(d) Why compact fluorescent lamps (CFL) are preferred over ordinary bulb.
OR
(a) Describe the construction and working of an electric bell.
(b) Draw the circuit of an electric bell. (05)
(a) Draw schematic diagram of circulation of blood in human beings.
(b) Write a note on stethoscope.
(c) Who discovered circulation of blood ?
: -OR
(a) Write differences between arteries and veins (any 4)
(b) How much urine is excreted by a normal adult in 24 hours ?
(c) What is the normal composition of human urine? (05)
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General instructions:

VVVVYVVYY

There are 31 questions. All questions are compulsory

Marks of each question are indicated against the question.

Qs. from SI. No. 1 to 14 are very short answer questions. Each question carries 1 mark.
Qs. from Sl. No. 15 to 26 are short answer questions of 3 marks each.

Qs. from 27 to 29 are long answer questions of 5 marks each.

Q.No. 30 is a ‘Diagram’ question, carrying 5 marks.

Question 31 is based on Map Work. 5 marks from History and 5 marks from Geography.

Answer the following Questions :-

Q.01
Q.02
Q.03
Q.04

Q.05

- Quos |

Q.07

Q.08
Q.09
Q.10
Q.11
Q.12
Q.13

Q.14
Q.15

Q.16
Q.17

Q.18

{(Questions — 1 to 14 in 1 word/term, each)

Which building in Delhi was the residence of the Mughal emperors? (1)
Who became the Mughal emperor after Jahangir? {1)
Ain-i-Akbari was a part of which book of history? (1)
What was the sacred space created by Baba Guru Nanak called, which now is known as
Gurudwara? ' (1)
Who established Namghars in Assam? (1)
What is the full form of PHC? (1)
What refers to the powers of government to disallow media from publishing or showing
certain stories? (1)
What is a series of markets, connected like links in a chain called? (1)
What is a person, who sells goods abroad, called? (1)
Name the bottom most layer of atmosphere. (1)
What is an artificial enclosure for keeping small house plants called? (1)
The explorers of which country discovered the Amazon river? (1)
What is the variety of blind dolphin found in the fresh waters of the Ganga and
Brahmaputra, locally called? (1)
What is the other name of Ladakh, which means ‘snow land’? (1)
Who were the first four rulers of the Mughal dynasty in India? Who from among them
was defeated by Sher Shah? (2+1) {3)
OR

Who was defeated by whom in the First Battle of Panipat in 1526? Name the two places
captured by the victor. (2+1)

Explain the role of a Zamindar in the Mughal administration. (3)

Why do you think many teachers rejected prevalent religious practices and beliefs in
mediaeval India? (3)

Who were the four most famous Bhakti saints from mediaeval Maharashtra? Which
temple in Pandharpur is dedicated to Lord Vishnu? (2+1)

OR (3)
What are the two names for the verses of Saint Kabir? Name any two holy religious
scriptures in which they (verses) have been collected and preserved. {1+2)
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Q.19 Whatis atmosphere? What are the names of its two top layers? (1+2)
OR (3)
What is insolation? What is temperature and which instrument is used to measure it
{temperature)? (1+2)

| Q.20 Why is the quality of water deteriorating? (Any three points) (3)
| Q.21 What do you understand by :- (3)
| (a) Tributaries (b) River's Mouth } (2)
| Which climatic region does the Amazon basin fall in? (1)

| Q.22 What are the two types of deserts? In which continent is the Sahara Desert
i‘ located? (2+1) (3)

‘P . Q.23  In what three ways is a hawker different from a shop owner?
| , OR _ (3)

How is a chain of markets formed?

Q.24 Described the conditions of employment as well as the wages of workers in a garment

exporting factory. _ (3)
{ Q.25 Whatis media? What are its types? Write with examples. (3)
Q.26 In what ways is the public health system meant for everyone? (3)

Q.27 How important was the income from land revenue for the stability of the Mughal
| empire? (1+1+1+1+1)

OR (5)
How were the debates with the religious scholars important in the formation of Akbar’s
ideas on governance? (1+1+1+1+1)

i Q.28 Describe the major ideas expressed by Kabir. (1+1+1+1+1)
OR ' - (5)
What were the major practices and beliefs of the Sufis? (1+1+1+1+1)

Q.29 What problems are usually faced by people in the private hospitals? (1+1+1+1+1)
OR (5)
What is an independent media? Why does mass media need huge amount of money to
do work? (3+2)

Q.30 Draw a neat and |abelled diagram of ‘Types of Rainfall’. (5)

Q.31 (A)Name and locate the states, on the given politicai map of India, associated with the

name of the following Bhakti Saints. (Any 5) (5)
(i) Namdev (i) Meerabai (iii) Chaitanya
{iv) Basavanna (v) Kabir (vi) Shankaradeva

(B) Locate the following geographical features/Ocean currents (‘Arrow Tip’ ' =" '« "isa
must for ‘warm’/’cold’ currents) on the given political map of the World. {(Any 5) (5)

(i) Gulf Stream Ocean current (ii) Brazillian Ocean current
(ili) Humboldt (Peru) Ocean current  (iv) Oyashio Ocean current
(v) Sahara Desert (vi) Ladakh
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COMMUNICATION TECHNOLOGY

SECTION - A

CHOOSE THE CORRECT OPTION 1X10=10

1. Which of the following is type of malware?
a. Encryption b. Trojan Horse c¢.Norton  d. All of these

2. is a feature that helps us to make animation process easier and faster.

a. Tweening b. Positioning c. Scaling d. None of these

3. The default extension of an GIMP file is ;
a. .psd b. .xcf c..docx d..pdd

4. Which loop statement do we use when we don’t know the loop count?
a. WHILE b.FOR c.Bothaandb d. None of these

5. Every Web page has a unique address, called
a. HTTP b.URL c¢. WWW d. None of these

6. Which of these is an online backup service?
a. Google Drive  b. Defragmentation c¢. Norton  d. All of these

7. Which of the following symbol(s) is/are used for comments in Python?
a. // b o/  d.#

8. The tool used to detect the edges of the image automatically is
a. Fuzzy selecttool b. Free Select c.Crop d. All of these

9. tween helps to move an object.
a. Motion b. Scale c. Rotation d. Move

10. Which of the following is not a conditional statement in BASIC — 256 ?
a.IF..THEN b.IF..THEN ..ELSE c. FOR.. NEXT d. WHILE

STATE TRUE OR FALSE

1. Looping continuously run the animation without any break.

2. Gradient tool is used to give blending effect between two or more colours.
3. The e-mail address is the same for every internet user.

4. Antivirus is used to eradicate virus from the computer system.

5. While ...EndWhile loop is known as a Condition Control Loop.

FILL IN THE BLANKS WITH THE CORRECT WORD
. We can preview the animation or tween through button.

1

Z tool allows you to type text on the image or workspace.
3. A loop which never ends is called ____loop.
4

5

. A collection of related web pages is called
. Malicious software is known as

SECTION B

ANSWER THE FOLLOWING QUESTIONS

What is URL?

What is trojan?

Which tool is used to magnify an image?

When is the IF .. THEN.. ELSE statement used?

What are the advantages of an e-mail?Write any three.

How will you keep your computer physically fit?Mention any three ways
Define modes of Python IDLE.

What is looping? What are the two looping statements used in BASIC — 256 2
What is Tween? Explain different types of tween options in Tupi 2D.

0. What is malware? How does it affect your computer?

Mention any three types of malwares.
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